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Erratum: ‘‘The effect of weak inertia on the emptying of a tube’’
†Phys. Fluids 14, 2102 „2002…‡

Alain de Rycka)

Ecole des Mines d’Albi, Campus Jarlard, route de Teillet, F-81000 Albi Cedex 09, France

The original manuscript contained errors requiring the
following changes to six of the equations. There is a term
lacking in Eq.~26!, and the coefficients in Eq.~27! and~28!
have to be corrected. In Eqs.~1!, ~13! and~22!, there is a mix
with previous coordinates.

~1! In Eq. ~1! r should be replaced byy and the second1 in
the left member replaced by2 to give
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~2! Equation~13! should be
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~3! In Eq. ~22!, h should be replaced by (r 2h) to give
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~4! In Eq. ~26!,w should be replaced byu and it lacks a term
in the left member. Eq.~26! now writes
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~5! In Eq. ~27!, some numerical coefficients in the second
term of the right hand side are wrong. It should be
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~6! In Eq. ~28!, two coefficients are wrong. It should be
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